= [~ = e ] el
20235t = H|OfA s ESts do LY
1.8 AL 202339 E B0 HEHESS
2. A HFT A9
3.2 A]:2023.05.30(2h ~ 2023.06.02(&)
4. HIHQIH - 5Hd 267, nAt 158 5282 @)+ 2
* o A s
T = W 9 = A = W 9 = A
=&ojEH|[(dEh[ 210,000 ¥x 263 H= 55,230,000 XtEFH| [TMHA(YLtoEF) 11,000,000
10,000 &l x 4 F= 40,000 HMHARFE) 30,800,000
o] g3z |[ESERETHF) 21,513,700
WSHXAGEZH[ 350,000 ¥x 267 Y= 93,450,000 ASEEHFHF) 18,758,000
uSHEXYAEE)| 146,000 &x 10 Y= 1,460,000] =tHH| [ZEZ|0lS=H 38,070,000
QULAIR| A (EZH[ 200,000 & x 4 Y= 800,000] ZAH| [1YX} Eetet 2,820,000
0 2R LA Al 2,820,000
WA 2 EH)| 517,000 |x 15 Y= 7,755,000 3YX AQFEESTE 3,384,000
AUX}E Ol 2| oHE 4 2,820,000
e |(cHFIORE 2,136,000
MALEE 1,602,000
= H O = 1,869,000
A 70| B 4 2,670,000
ZIEX 2,670,000
HOo|=HE 934,500
MUEHQLIEH# 1,068,000
og|&= 2,670,000
gf| 2Hto|3 2,136,000
7t e[ ot 801,000
o S22 A 0tULE 1,201,500
HMEEE 2,670,000
M A Rt&Kpek= 2 1,068,000
7|Ef  [C{RHRIEH 1,128,000
OpZIRtH 2 | 660,000
g2 2j|o[H 601,500
2 KX} 540,000
o= 33,000
Sl 285 uEH| 288,360
T @ 158,735,000 &4 © 158,732,560
Y Y ©=0-6 2,440
=SS tt= @
XeSH o @
TN 9=0-0-© TR A 2,440
xhoH 1012hakstol (1/n)
Htgt o
=EF0IRE7| 43
X F B4 T St 2FH| F & 2,440






